Intermediate Algebra B Name
Solving Quadratic Equations Unit 5 Review

5.2 I can represent real-world situations with quadratic equations and solve using
appropriate methods. '

Level 1
1. Use the graph of f(x) to the right to find the solutions when:
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Solve each equation using any method you want. Write all answers in simplest radical form.
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11.3(x +5)% +4 =100
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12. John solved an equation and got the following solution: x = +5i. Which of the equations
below could have been John's question?

A x2-25=0

B. x2=-5

C. x?—-5x+25=

D. x2+25=0 n

E. —5x?=-25 (

Y
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13. A model rocket is launched from the roof of a building. Its flight path is modeled by the equation
below, where h is the height of the rocket above the ground in meters and ¢ is the time after the
launch in seconds. When did the rocket hit the ground?
h(t) = =5t% + 30t + 10
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15. The height, h, in feet of an object above the ground is h(t) = _16t2 + 64t + 190. Where tis the
time in seconds.

a. How long untif the object reaches a height of 100 feet?

lo© ST e {644 H+4q0
506

b. What is the maximum height of this object? b

,5;,\(( Ve te K X- ’5;‘/ "htu: §mc/y
25

c. How long does it take the object to reach its maximum height?
\= A
d. How long does it take the object to reach the ground?
569 S
J 10 e (6 n ({5

| 5.3 ] can determine the number of real and non-real solutions for a quadratic equation.

>c '\Uf

Level 1:

Find the discriminant and state the number and type of solutions.
2 — oy
1. 5¥-1ix+6=1 Discriminant: Number and Type of Solutions:

(WA 2 Rea|

2. 3x*+2x=-1 Discriminant: Number and Type of Solutions:
- 2. 3, e
L “HAAFLIZ O "8) N / 7[
> | 2 imag. SoleTins
(2)72 43¢ = -8, 3 |
3. 4x?—12x+9=0 Discriminant: Number and Type of Solutions:

L-\l)z__ e)(a)= o O ( E{»"Q

Form A page 3 of 4




Intermediate Algebra B
Solving Quadratic Equations Unit 5 Review

Name

4. Decide whether each graph has a positive, negative, or zero discriminant.

i @ A
LS5 s 2

Discriminant ' ‘

Level 2-3:

Discriminant

Discriminant § 2

5. If an equation has solutions of +4, describe the discriminant and explain your reasoning.

2 f :
o < .l : r
BeAQl =0\ x (¢S whicln [Are 6nS

6. A water balloon is catapulted into the air. The height h of the balloon in meters is represented by the
equation h(t) = _4.9¢2 + 27t + 2.4 where t represents the time in seconds. Find the discriminant and
use it to determine if the balloon will ever reach a height of 45 feet.

b 1274 —42.6
(27)2"‘ i, g) (C926) - ~loS”

. . 5 Reel 55 ) {/0
7 For which value(s) of T would the quadratic equation T = x* + 6x + 9 have 5}
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U
b) 1 real solution?

435 = -4 4% 1274 2.
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c) 2 imaginary solutions? V\ddl 1 4-4 be -}”99‘ﬂ(
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